Advanced Algebra Chapter 1 Review Mrs. Dunphy

Name: X Period: Your Score:

Instructions: Doall work on this worksheet. Show all steps that lead to your solution. Remember that we
work down, not across. Check all your answers on Mrs. Dunphy’s blog and write your score above.
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10. Write the property that was used to make each step in the simplification below.
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20. Solve forx. ax+by+c=0
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23. A piggy bank contains 70 coins (nickels and
dimes) worth $5.55. How many of each type of
coin are in the bank?
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24. The length of a rectangle is 6 cm more than its
width. If you reduce the length by 2 cm and
triple the width, the rectangle becomes a square.

What are the dimensions of the rectanglez
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One train leaves Phoenix at 10 A.M. headed for
Ventura, CA 432 miles away. Another train
leaves Ventura at the same time headed for
Phoenix. The train rates differ by 8 mi/h. If
they meet at 2 P.M., how fast is each train
traveling? (HINT: It does not matter which
train is moving faster)
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26.

A company manufactures large batches of soup
consisting of meat and vegetables. Meat costs
$7/1b and vegetables cost $2/1b. If the company
makes 200 Ib batches of soup and their final cost
must be $2.50/1b, how many pounds of each
ingredient must they add? (HINT: Think of
this like a coin problem, but the "coins" have
different names and values)
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